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ФедеD4лL=K9 �4ко= «О E4=8т4D=о-Mп8де<8оло78GеEко< 5л47ополуG88 =4Eеле=8O» (Eт. 34) От 30.03.1999 № 52-D7

ФедеD4лL=K9 74ко= «О5 оE=о64E оED4=K 7доDо6LO 7D46д4= 6  оEE89Eко9 ФедеD4F88» (Eт. 46, Eт. 14) От 21.11.2011 № 323-D7

&Dудо6о9 кодекE  оEE89Eко9 ФедеD4F88 (Eт. 220) От 30.12.2001 № 197-D7

�D8к47 М8=7дD464  оEE88 «О5 ут6еD6де=88 DоD<K, поDOдк4 6еде=8O отGет=оEт8, уGет4 8 6Kд4G8 D45от=8к4< 
л8G=KE <ед8F8=Eк8E к=86ек, 6 то< G8Eле 6 DоD<е MлектDо==о7о доку<е=т4» От 18.02.2022 № 90=

�D8к47 М8=7дD464  оEE88 «О5 ут6еD6де=88 поDOдк4 пDо6еде=8O о5O74телL=KE пDед64D8телL=KE 
8 пеD8од8GеEк8E <ед8F8=Eк8E оE<отDо6 D45от=8ко6, пDедуE<отDе==KE G4EтLN Gет6еDто9 Eт4тL8 213 &Dудо6о7о 
кодекE4 DоEE89Eко9 DедеD4F88, пеDеG=O <ед8F8=Eк8E пDот86опок474=89 к оEуIеEт6ле=8N D45от E 6Dед=K<8 
8 (8л8) оп4E=K<8 пDо876одEт6е==K<8 D4ктоD4<8, 4 т4к6е D45от4<, пD8 6Kпол=е=88 котоDKE пDо6одOтEO 
о5O74телL=Kе пDед64D8телL=Kе 8 пеD8од8GеEк8е <ед8F8=Eк8е оE<отDK»

От 28.01.2021 № 29=



#"$Я�"� #$"����!�Я "�Я��&��0!/) #$����$�&��0!/) 
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�4клNGе=8е по Dе7улLт4т4< пDед64D8телL=KE 8 пеD8од8GеEк8E <ед8F8=Eк8E оE<отDо6

�Dед64D8телL=Kе <ед8F8=Eк8е оE<отDK (о5Eледо64=8O) пD8 поEтупле=88 
=4 D45оту пDо6одOтEO E FелPN опDеделе=8O Eоот6етEт68O EоEтоO=8O 7доDо6PO 
л8F4, поEтуп4NIе7о =4 D45оту, поDуG4е<о9 е<у D45оте.

�еD8од8GеEк8е <ед8F8=Eк8е оE<отDK (о5Eледо64=8O) пDо6одOтEO 6 FелOE 
д8=4<8GеEко7о =45лNде=8O 74 EоEтоO=8е< 7доDо6PO D45от=8ко6, E6ое6Dе<е==о7о 
6OO6ле=8O =4G4лP=OE DоD< пDоDеEE8о=4лP=OE 745оле64=89, D4==8E пD87=4ко6 
6о7де9Eт68O 6Dед=OE 8 (8л8) оп4E=OE пDо876одEт6е==OE D4ктоDо6 D45оGе9 EDедO, 
тDудо6о7о пDоFеEE4 =4 EоEтоO=8е 7доDо6PO D45от=8ко6 6 FелOE DоD<8Dо64=8O 
7Dупп D8Eк4 D4768т8O пDоDеEE8о=4лP=OE 745оле64=89, 6OO6ле=8O <ед8F8=Eк8E 
пDот86опок474=89 к оEуIеEт6ле=8N отделP=OE 68до6 D45от.

�EEледо64=8O/о5Eледо64=8O

• 4=тDопо<етD8O 8 D4EGет 8=декE4 <4EEK тел4
• о5I89 4=4л87 кDо68 
• кл8=8GеEк89 4=4л87 <оG8 
• опDеделе=8е уDо6=O о5Iе7о EолеEтеD8=4 6 кDо68 
• 8EEледо64=8е уDо6=O 7лNко7K 6 кDо68 
• 87<еDе=8O �Д
• ЭК�
• DлNоDо7D4D8O 8л8 Dе=т7е=о7D4D8O ле7к8E 
• <4<<о7D4D8O
• 87<еDе=8е 6=утD87л47=о7о д46ле=8O
• опDеделе=8е от=оE8телL=о7о EеDдеG=о-EоEуд8Eто7о 

D8Eк4 (от 18 до 40 лет 6клNG8телL=о) по Hк4ле SCORE, 
45EолNт=о7о EеDдеG=о-EоEуд8Eто7о D8Eк4 (от 40 лет) 

ОE<отD 6D4Gе9

8=Kе допол=8телL=Kе оE<отDK 8 8EEледо64=8O 
длO D45от=8ко6 отделL=KE пDоDеEE89 

уEт4=о6ле=K пD8ло6е=8е< «�еD8од8G=оEтL 8 
о5Jе< о5O74телL=KE пDед64D8телL=KE 8 
пеD8од8GеEк8E <ед8F8=Eк8E оE<отDо6» 

к пD8к47у № 29=

• 6D4G4-теD4пе6т4 
• 6D4G4-=е6Dоло74 
• 6D4G4-пE8E84тD4 
• 6D4G4-=4Dколо74

• 4куHеD4-78=еколо74 
(54к. 8EEледо64=8O, 
F8толо78GеEк8е 
8EEледо64=8O, '��) 

�=кет8Dо64=8е



• ИEEледо64=8е кDо68 =4 E8D8л8E 
• ИEEледо64=8O =4 =оE8телPEт6о 

6о75уд8теле9 к8HеG=OE 8=DекF89 
8=DекF89 (=оDо-, Dот468DуE=Oе 
8=DекF88, к4<п8ло54ктеD8о7, 
E4лP<о=елле7, H87елле7, =оE8телPEт6о 
Q=теDоп4то7е==OE E.coli, 7олот8EтO9 
Eт4D8лококк) 8 EеDоло78GеEкое 
о5Eледо64=8е =4 5DNH=о9 т8D пD8 
поEтупле=88 =4 D45оту 8 6 д4лP=е9Hе< —
по Qп8дпок474=8O<; 

• ИEEледо64=8е =4 7елP<8=то7O пD8 
поEтупле=88 =4 D45оту 8 6 д4лP=е9Hе< —
=е Dе6е 1 D474 6 7од л85о по 
Qп8дпок474=8O<;

• М47ок 87 7е64 8 =оE4 =4 =4л8G8е 
п4то7е==о7о Eт4D8лококк4 пD8 
поEтупле=88 =4 D45оту, 6 д4лP=е9Hе< —
по <ед8F8=Eк8< 8 Qп8дпок474=8O<; 

• ФлNоDо7D4D8O 
8л8 Dе=т7е=о7D4D8O ле7к8E 
6 д6уE пDоекF8OE (пDO<4O 
8 пD464O 5око64O) длO 
7D46д4= 6 6о7D4Eте 18 лет 
8 Eт4DHе (ФлNоDо7D4D8O, 
Dе=т7е=о7D4D8O ле7к8E 
=е пDо6од8тEO, еEл8 
7D46д4=8=у 6 теGе=8е 
пDедHеEт6уNIе7о 
к4ле=д4D=о7о 7од4 
пDо6од8л4EP 
DлNоDо7D4D8O, 
Dе=т7е=о7D4D8O 
(Dе=т7е=оEкоп8O) 8л8 
ко<пPNтеD=4O то<о7D4D8O 
оD74=о6 7Dуд=о9 клетк8) 

("$ �$"��!�� %����!�� " #$"����!!"   ���*�!%�"  
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 45отK, пD8 6Kпол=е=88 котоDKE оEуIеEт6лOетEO ко=т4кт E п8Iе6K<8 пDодукт4<8 6 пDоFеEEе 8E пDо876одEт64, ED4=е=8O, тD4=EпоDт8Dо6к8 8 Dе4л874F88
(� оD74=874F8OE п8Iе6KE 8 пеDеD454тK64NI8E отD4Eле9 пDо<KHле==оEт8, EелLEко7о Eо7O9Eт64, пу=кт4E, 5474E, Eкл4д4E ED4=е=8O 8 Dе4л874F88, 

� тD4=EпоDт=KE оD74=874F8OE, оD74=874F8OE тоD7о6л8, о5IеEт6е==о7о п8т4=8O, =4 п8Iе5лок4E 6EеE уGDе6де=89 8 оD74=874F89)

• �D4G-теD4пе6т
• �D4G-

отоD8=ол4D8=7оло7
• �D4G-

деD<4то6е=еDоло7
• �D4G-Eто<4толо7

ОE<отD 6D4G4<8-
EпеF84л8Eт4<8 Л45оD4тоD=Kе 8EEледо64=8O 8 8=EтDу<е=т4лL=Kе 8EEледо64=8O

• коDP (д6е пD8686к8),
• д8DтеD8O (поEлед=OO пD8686к4 E ук474=8е< 
• поDOдк4, =-D RV)
• 7D8пп (74 поEлед=89 7од) 
по Qп8дпок474=8O<:

• 68DуE=O9 7еп4т8т � (д6е пD8686к8),
• H87елле7 (74 поEлед=89 7од)
• тулODе<8O (пD8686к8 74 поEлед=8е 7 лет)*,**
• 5DуFелле7 (пD8686к8 74 поEлед=8е 2 7од4)*
• E858DEк4O O764 (пD8686к8 74 поEлед=8е 2 7од4),*
• лептоEп8Dо7 (пD8686к8 74 поEлед=8е 2 7од4) **

*для D45отн8ко6 6 оD74н874F8яE EелPEко7о Eо7я9Eт64 
**для D45отн8ко6 пункто6, 547, Eкл4до6 ED4нен8я, 
Dе4л874F88 8 тD4нEпоDт4 п8ще6о9 пDодукF88 
8 пDодо6олPEт6енно7о EODPя

�DоD8л4кт8GеEк8е пD8686к8 

• Ту5еDкуле7 �15-�19 
(6 теGе=8е 687=8 8л8 
EDо=8GеEк89 пDоFеEE)

• КоDP �05 (6 теGе=8е 687=8)
• �еп4т8т � �15 (6 теGе=8е 687=8)
• �DNH=о9 т8D �01 

(6 теGе=8е 687=8)
• �DуFелле7 �21* 

(6 теGе=8е 687=8 8л8 
EDо=8GеEкое 745оле64=8е)

!6еде=8O о пеDе=еEе==KE 
8=DекF8о==KE 745оле64=8OE 

по коду МК�-10

�=DоD<4F8O 6 MлектDо==уN л8G=уN <ед8F8=EкуN к=86ку

Д4т4 оE<отD4/
о5Eледо64=8O; 
�4клNGе=8е 
(пDот86опок474=8O 
=е 6KO6ле=K/6KO6ле=K)

Д4т4 8EEледо64=8O; 
�4клNGе=8е
(=е о5=4Dу6е=о/о5=4Dу6е=о) 

Д4т4 8EEледо64=8O; 
�4клNGе=8е 
(пD87=4ко6 п4толо788 
=е 6KO6ле=о/6KO6ле=K 
пD87=4к8 п4толо788)

Д4т4 64кF8=4F88 

Д4т4 пеDе=еEе==о7о 745оле64=8O 
(7од);  е7улLт4т EеDоло78GеEко7о 
8EEледо64=8O =4 8<<у=8тет к коD8 
(6 теGе=8е 7од4, пD8 отEутEт688       
д4==KE о 64кF8=4F88



• ИEEледо64=8е кDо68 =4 E8D8л8E
• ИEEледо64=8е =4 7елP<8=то7O

• ФлNоDо7D4D8O 
8л8 Dе=т7е=о7D4D8O ле7к8E 
6 д6уE пDоекF8OE (пDO<4O 
8 пD464O 5око64O) длO 
7D46д4= 6 6о7D4Eте 18 лет 
8 Eт4DHе (ФлNоDо7D4D8O, 
Dе=т7е=о7D4D8O ле7к8E 
=е пDо6од8тEO, еEл8 
7D46д4=8=у 6 теGе=8е 
пDедHеEт6уNIе7о 
к4ле=д4D=о7о 7од4 
пDо6од8л4EP 
DлNоDо7D4D8O, 
Dе=т7е=о7D4D8O 
(Dе=т7е=оEкоп8O) 8л8 
ко<пPNтеD=4O то<о7D4D8O 
оD74=о6 7Dуд=о9 клетк8) 

("$ �$"��!�� %����!�� " #$"����!!"   ���*�!%�"  
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 45отK =4 6одопDо6од=KE EооDу6е=8OE, 8<еNI8е =епоEDедEт6е==ое от=оHе=8е к под7ото6ке 6одK, 4 т4к6е
о5Eлу6864=8N 6одопDо6од=KE Eете9

• �D4G-

отоD8=ол4D8=7оло7
• �D4G-

деD<4то6е=еDоло7
• �D4G-Eто<4толо7
• �D4G-теD4пе6т

ОE<отD 6D4G4<8-
EпеF84л8Eт4<8 Л45оD4тоD=Kе 8EEледо64=8O 8 8=EтDу<е=т4лL=Kе 8EEледо64=8O

• коDP (д6е пD8686к8)
• д8DтеD8O (поEлед=OO пD8686к4 E ук474=8е< 
• поDOдк4, =-D RV)
• 7D8пп (74 поEлед=89 7од) 
по Qп8дпок474=8O<:

• 68DуE=O9 7еп4т8т � (д6е пD8686к8)

�DоD8л4кт8GеEк8е пD8686к8 

• Ту5еDкуле7 �15-�19 
(6 теGе=8е 687=8 8л8 
EDо=8GеEк89 пDоFеEE)

• КоDP �05 (6 теGе=8е 687=8)
• �еп4т8т � �15 (6 теGе=8е 687=8)
• �DNH=о9 т8D �01 

(6 теGе=8е 687=8)

!6еде=8O о пеDе=еEе==KE 
8=DекF8о==KE 745оле64=8OE 

по коду МК�-10

�=DоD<4F8O 6 MлектDо==уN л8G=уN <ед8F8=EкуN к=86ку

Д4т4 оE<отD4/
о5Eледо64=8O; 
�4клNGе=8е 
(пDот86опок474=8O 
=е 6KO6ле=K/6KO6ле=K)

Д4т4 8EEледо64=8O; 
�4клNGе=8е
(=е о5=4Dу6е=о/о5=4Dу6е=о) 

Д4т4 8EEледо64=8O; 
�4клNGе=8е 
(пD87=4ко6 п4толо788 
=е 6KO6ле=о/6KO6ле=K 
пD87=4к8 п4толо788)

Д4т4 64кF8=4F88 

Д4т4 пеDе=еEе==о7о 745оле64=8O 
(7од);  е7улLт4т EеDоло78GеEко7о 
8EEледо64=8O =4 8<<у=8тет к коD8 
(6 теGе=8е 7од4, пD8 отEутEт688       
д4==KE о 64кF8=4F88



• ИEEледо64=8е кDо68 =4 E8D8л8E;
• М47к8 =4 7о=оDеN пD8 поEтупле=88 

=4 D45оту;
• ИEEледо64=8O =4 =оE8телPEт6о 

6о75уд8теле9 к8HеG=OE 8=DекF89 
8=DекF89 (=оDо-, Dот468DуE=Oе 
8=DекF88, к4<п8ло54ктеD8о7, 
E4лP<о=елле7, H87елле7, =оE8телPEт6о 
Q=теDоп4то7е==OE E.coli, 7олот8EтO9 
Eт4D8лококк) 8 EеDоло78GеEкое 
о5Eледо64=8е =4 5DNH=о9 т8D 
пD8 поEтупле=88 =4 D45оту 
8 6 д4лP=е9Hе< — по Qп8дпок474=8O<; 

• ИEEледо64=8е =4 7елP<8=то7O 
(Q=теDо58о7, 7е<8=олеп8до7) 

пD8 поEтупле=88 =4 D45оту 
8 6 д4лP=е9Hе< — =е Dе6е 1 D474 
6 7од л85о по Qп8дпок474=8O<; 

• ФлNоDо7D4D8O 
8л8 Dе=т7е=о7D4D8O ле7к8E 
6 д6уE пDоекF8OE (пDO<4O 
8 пD464O 5око64O) длO 
7D46д4= 6 6о7D4Eте 18 лет 
8 Eт4DHе (ФлNоDо7D4D8O, 
Dе=т7е=о7D4D8O ле7к8E 
=е пDо6од8тEO, еEл8 
7D46д4=8=у 6 теGе=8е 
пDедHеEт6уNIе7о 
к4ле=д4D=о7о 7од4 
пDо6од8л4EP 
DлNоDо7D4D8O, 
Dе=т7е=о7D4D8O 
(Dе=т7е=оEкоп8O) 8л8 
ко<пPNтеD=4O то<о7D4D8O 
оD74=о6 7Dуд=о9 клетк8) 

("$ �$"��!�� %����!�� " #$"����!!"   ���*�!%�"  
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 45отK 6 оD74=874F8OE, деOтелL=оEтL котоDKE E6O74=4 E 6оEп8т4=8е< 8 о5уGе=8е< дете9

• �D4G-

отоD8=ол4D8=7оло7
• �D4G-

деD<4то6е=еDоло7
• �D4G-Eто<4толо7
• �D4G-теD4пе6т

ОE<отD 6D4G4<8-
EпеF84л8Eт4<8 Л45оD4тоD=Kе 8EEледо64=8O 8 8=EтDу<е=т4лL=Kе 8EEледо64=8O

• коDP (д6е пD8686к8),
• д8DтеD8O (поEлед=OO пD8686к4 E ук474=8е< 

поDOдк4, =-D RV)
• 7D8пп (74 поEлед=89 7од) 
• Qп8де<8GеEк89 п4Dот8т (д6е пD8686к8)

�DоD8л4кт8GеEк8е пD8686к8 

• Ту5еDкуле7 �15-�19 
(6 теGе=8е 687=8 
8л8 EDо=8GеEк89 пDоFеEE)

• КоDP �05 (6 теGе=8е 687=8)
• �еп4т8т � �15 (6 теGе=8е 687=8)
• Эп8де<8GеEк89 п4Dот8т �26 

(6 теGе=8е 687=8)
• �етDO=4O оEп4 �01 

(6 теGе=8е 687=8)

!6еде=8O о пеDе=еEе==KE 
8=DекF8о==KE 745оле64=8OE 

по коду МК�-10

�=DоD<4F8O 6 MлектDо==уN л8G=уN <ед8F8=EкуN к=86ку

Д4т4 оE<отD4/
о5Eледо64=8O; 
�4клNGе=8е 
(пDот86опок474=8O 
=е 6KO6ле=K/6KO6ле=K)

Д4т4 8EEледо64=8O; 
�4клNGе=8е
(=е о5=4Dу6е=о/о5=4Dу6е=о) 

Д4т4 8EEледо64=8O; 
�4клNGе=8е 
(пD87=4ко6 п4толо788 
=е 6KO6ле=о/6KO6ле=K 
пD87=4к8 п4толо788)

Д4т4 64кF8=4F88 

Д4т4 пеDе=еEе==о7о 745оле64=8O 
(7од);  е7улLт4т EеDоло78GеEко7о 
8EEледо64=8O =4 8<<у=8тет к коD8 
(6 теGе=8е 7од4, пD8 отEутEт688       
д4==KE о 64кF8=4F88



• ИEEледо64=8е кDо68 =4 E8D8л8E;
• М47к8 =4 7о=оDеN пD8 поEтупле=88 

=4 D45оту;
• ИEEледо64=8O =4 =оE8телPEт6о 

6о75уд8теле9 к8HеG=OE 8=DекF89 
(=оDо-, Dот468DуE=Oе 8=DекF88, 
к4<п8ло54ктеD8о7, E4лP<о=елле7, 
H87елле7, =оE8телPEт6о Q=теDоп4то7е==OE
E.coli, 7олот8EтO9 Eт4D8лококк) 
8 EеDоло78GеEкое о5Eледо64=8е 
=4 5DNH=о9 т8D пD8 поEтупле=88 =4 
D45оту 8 6 д4лP=е9Hе< — по 
Qп8дпок474=8O<

• ФлNоDо7D4D8O 
8л8 Dе=т7е=о7D4D8O ле7к8E 
6 д6уE пDоекF8OE (пDO<4O 
8 пD464O 5око64O) длO 
7D46д4= 6 6о7D4Eте 18 лет 
8 Eт4DHе (ФлNоDо7D4D8O, 
Dе=т7е=о7D4D8O ле7к8E 
=е пDо6од8тEO, еEл8 
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